7

e

R e 3
S00m

Bz e

B SRR
d

| i
1B RTSRTS

‘Ej-"_,(
HE_H_% =

""MH:_L

P

i ."' | i R E
%=1 _HakpelT e H e
) . | E .
, ETE2 Y % H Lsisfeh = - =
- i I i k)
b ez A al 7 J
[l i R 11 1 Hj = — Al :
A i - !
\ EY i) x
M.\ - : K:ﬁ gjc
EE-?E ﬂ'\;-rm&-% /. ; %
@ Py ""'"h_\_:_ |Ii,-{_. eyl
il FH .
Zchdh
TIUAL T
= ,_Fﬁf%ﬁt}'ﬂ—\_»wx iy A
YER . 7
ET 1 == -
=2 N : e
F’ﬂ WEE BT

oo | TFD28 | 00 |Dooooo | 00 |oopDoooDoOODOOODO0 | 0D 35702500000 13948583000 0 77m
ooo NMD]JD26DDDD|DDD ‘DDDMMDDDDBMDDDDBMDDDDBM] |DD | 0O ‘D| ‘DDD
0000 |RCODOD20000000196800
000000 | CHI=N300E, CH2=N030E, CH3=UDCO 0 0 000 00 0 00000 20050 50 90
oooo oooco 0Oooso ooooLo 00DD0OED O O
O | 11:500 12:01 TFD028S_C TFD028S_S TFD028S_L TFD028S_E
. oooo SMR-B SMR-A SMR-D SMR-C
0 0 |000000000=200Hz LPF=50Hz
0000 | 0000O0m) on X0 YO 000O0O0ED 0 0
10:200 10:23 0 TFD028G O Ro0 | TFD028G_X RO0 | TFD028G Y R00 TFD028G_E R00
o | 10300 1041 6 TFD028G_O R06 | TFD028G_X R06 | TFD028G Y R06 | TFD028G_E_R06
11:100 11:21 10 TFD028G_O R10 | TFD028G_X R10 | TFD028G Y R10 | TFD028G E RI0
S 00 114 15 TFD028G_O R15 | TFD028G X R15 | TFD028G Y R15 | TFD028G E RIS
oooo SMR-D SMR-B SMR-A SMR-C
0 O |000D0O0O000O0=200Hz LPF=50HZ000000XYOO 0000 5010015m000000000 om00000000000000 000000

ogoo




1000—

N
A FLALE
\ —5m
A — 10m
< B /\ Y(\ — 15m
N \VARRV
- — RK40m
x A\ \ ~
£\
=
i_;j O\ NV AN
A
Vs30 = 266 m/s \/%\%\
100 \
\
\\
0.1 1|
' B ()
0.1
(I’R\I\\ Faa Ts=0.17s | Tes0.268
~ -0 o
RV R\ maEm | | Teozes
K] I’ \| I [N /o\\ i\ £ LG
2 e NN e L "
o\ SHENSE AN
| : \ = =
X 0.01 [—\/ ,I;{VL-.Q + NI N\ \\i\§ ﬁ%&f %ﬂﬁ@
I/ é’:l"’ N 2 \/:/A ~ % \“\ —om —ont
’ZM N N NS T ToHe - o
VA ‘:,—7 \ \%:\
\
1
\\
\Fk‘\‘
1E-3 N i-r_]
0.1 !
B (s)

N
' A/ o HO R (E)
E / ——CH1 —— CH1
* /| ‘ A
& \NaE o ! ~ = CH2 - - CH2
N o L ~——UD ——UD
~ 001 — : tf\“”\ — 1 ]
z Y/ AR
<] A
" ’ ! \\ \\\\
Y \/ \
H A\
\ \
§~
N L
1E-3 N _— !
0.01 o1 1 1
EE (s)
N \ T,=0.27 s
I\\
AR i
A i
_ h‘ //4 \
D
& N I \\\ -
=N —— =
< 1 \‘ V\/J ‘I\ %/ \\4 Eé ::::__ =
= —
S IER YN WY T~
=g W N
:A;w \V‘ i Nﬂ”l’/
H Yo i}/
M W T
LN O EFHIE)
CH1/UD —— CH1/UD
— — CH2/UD — — CH2/UD
— AMH/UD —— &RH/UD
0.1 T T T T T 11T
0.01 0.1 1 1

B (s)



